[ normalized x? probability |

107

0.10.203040. 6 0.

70.80.9

2 4 6 8101214161820

— T [ Mew-10

— DOM_| mkFll XlMlnusNOPUfNEWdefaull specPLess1
m DQM_mkFit_XiMinusNOPU_NEWdefault_specPLess2
s DQM_mKFit_XiMinusNOPU_NEWdefault_specPLess3
s DOM_mkFit_XiMinusNOPU_NEWdefault_specPLess4

< x2/ndf >

e
d ++ "* hﬂ ﬂmjﬂ .?&.{ﬁ}t..

o
T
@
0953 0 1 2 3
n
A r A F
5 F : : : 5 gF
R Beeeeeens R pracesees <o
<k : : : < 1.6f-
\ R [ [ v o
M : : Laf-
1.4F 1.2F
1.2 E
0.8-
I 0.6F
0.8F 0.4F
0.6| 0'25_
o v o QOF
= T
x @
1 0.5
o 1 l 1(l)2 0* 10° — 1072 107
&T AR(track, jets)



	Contents
	Page 1


